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* VCD(Value Change Dump), TRAEKRTZNG, FrBHEESEDNISTF
- fsdb(Fast Signal DataBase), Verdisz$F

« WLF(Wave Log File), modelsim/~=4

BFRAFNHESREIL TES SRR, EARNER, BENErILIRVCDI AR (HSLHZEVCDXY
{FaYE4eh, RARBUAEEINERISEE, LR NEINTRIRVCDIUY) |, BRIERRHESVCDXHNE
FEHRTARE.

WEFRRGE: ERASMMIESEETHNE, Efsduikz, ARERverdiH TEE KIS



B H: VCD

VCDZ Verilog HDLIEStERN—ERD, ELLFTERIverilogh b EeSEfEEBET I Z Y, SeIFAFEverilogfLiE
BT R SRR ERdump VCDI4,

BEETESHENER, ERXRTEMIEREE.
fim: ATLUEE VCDIM A ITIRITRIDIRE, MiX—REEEMKI AR ERY.
RLIAEFEIARE: FFREX,



B H: VCD

AJLAEd Verilog  HDLAYZEFeeREdumpfileSRERGKTY, BT dumpvarsiSECRMERA B AR FREFERIR
MESHIETE.

HERBHE: EtestbenchAFIIAINTFILATCESEDR]

initial

begin
$fsdbDumpfile("*.fsdb"); //*XFR4EARAIFsdbEISI{44Z
$fsdbDumpvars(0,**); /RN {4

end




Az fsdb

fsdb3 {2 verdiff B—FERANEUEREIN, RUTFTVCD, BERERRELETHEIEFESHNERER, KE7T

VCOHER IR, B, fsdbEig=])s, MESIRSHEIEE.
ZHREYBPE I EUves, ncsim, modlesim FERJLUE ANEVerdi BIPLI  (—igfiFZ3=B K FHshare/pli HRF)

mE#zdump fsdb3Z{4.

HERBGE: EtestbenchiFIIAINTFILATESEDR]

initial

begin

$fsdbDumpfile("*.fsdb"); //*XFR4ERRAIfsdbBISZ{4%Z
$fsdbDumpvars(0,**); /RN {4

end
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{Eiverilog+GTKwave{ph B

iverilog:

Icarus Verilog2—verilogffET R, LUmiEssiFezl ITlE, ElverilogdmERITRAERIFAFER BIMEIN. INRE
HITBERE, B LAER— I vvpRYFEFE . X MEZURT LABEFRTBI T RIvWpm SHIT.

gtkwave:

wave viewer. BJLAFF&EERERIverilog VCD/EVCD, LA EABRI—EAZTURTRAZ S

“EHEFEIR, BBLAF, SuLIRES TEE
BINTELINUXES TREGHE

{EFZ% https://zhuanlan.zhihu.com/p/148795858



{Eiverilog+GTKwave{ph B

RTL{LES

module adder(clk, rst_n, a, b, ¢);
input [3:0] a;
input [3:0] b;
output [7:0] c;
input clk, rst_n;

wire [3:0] a;
wire [3:0] b;
reg [7:0] c;

always @(posedge clk or negedge rst_n) begin
if (rst_n == 1'b0)
c <=8'h0;
else
C <= a+b;
end
endmodule




{Eiverilog+GTKwave{ph B

“timescale 1ns/1ns
module adder_tb();
reg [3:0] a;
reg [3:0] b;
wire [7:0] c;

reg clk,rst_n;

adder DUT (
.clk(clk),
rst_n(rst_n),
.a(a),
b(b),
.c(c)

);

always begin
#10 clk = 0;
#10 clk = 1;
end

endmodule

initial begin
rst n=1,
test(4'b1111, 4'b1111, 5'b11110);
$finish;
end
task test;
input [3:0] in;
input [3:0] in2;
input [7:0] e;
begin
a=in;
b=in2;
@(posedge clk);
@(negedge clk);
if (c ==e) begin
$display ("It works");
end else begin
$display("opps %d + %d ~= %d, expect %d", in, in2, c, e);
end
end
endtask

Testbenchf{{HS




{Eiverilog+GTKwave{f &

iverilogap L1 THmIFIEI T
> iverilog adder_rtl.v adder_th.v

- example

adder_rtl.v adder_tb.v a.outx
- example |

- example

adder_rtl.v adder_tb.v a.outx

- example
It works
> example |]




{Eiverilog+GTKwave{f &

{EtbAR 7N I0dump: initial begin
$dumpfile("wave.ved"); // 357E FA{EdumpfileAY93Z14
$dumpvars; // dump all vars
end

BT I8, £ T — 1 ved3 4, EEgtkwaveEE.

- example
adder_rtl.v adder_tb.v
- example
- example

adder_rtl.v adder_tb.v a.outx

- example

VCD info: dumpfile wave.vcd opened for output.
It works

- example
adder_rtl.v adder_tb.v a.out*x wave.vcd
- example wave.' D
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File Edit Search Time Markers View Help

From:|0 sec To:|50 ns & | Marker: — | Cursor: 17 ns

wire rst_n

Filter:
Append| Insert | Replace T ;

[
Edit Search Time Mar View He
Signals Waves

adder_tb Time
DUT

Signals

req e[7:0]

reg in[3:0]

Filter:
Append| Insert | Replace = | ET!
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